M 45E 2 EAFFE 50mP60  SEIE

1518 258 ~ FER: S M4 £ 68 12B(XIE: ) B FREREAN -5
G518 | STEE|  iEH % Al D 1 2 3 4 5 6 &5t X# | IRf | fEE
1 9 P60 |RTH #X 3E+07( 102.2 | 100.2 | 102.3 | 100.9 | 104.7 | 103.8 | 614.1 26 1
1110 P60 BT & 2e+07| 101.7 | 100.4 | 101.7 | 100.7 | 102.6 | 101.1 608.2 27 2
1112 P60 |EH 2e+07 1024 | 100.6 | 99.6 | 101.1 | 100.5 | 101.3 | 605.5 23 3
1113 P60 (fIHE XIth 4e+07] 101.2 | 102.5 | 100.6 | 100.2 | 99.4 | 9741 601.0 22 4

1 6 P60 |&IR L 2E+07( 986 | 985 | 101.3 | 1016 | 99.8 | 1003 | 600.1 25 5
115 P60 |ATH f&X 2e+07| 99.5 | 101.7 | 1023 | 97.4 | 100.2 | 99.0 600.1 19 6

2 | 16 P60 |&H f#2— 2E+07] 1004 | 979 | 1006 | 96.6 | 990 | 994 593.9 18 7

11 M P60 |&EH A 4e+07) 930 | 96.2 | 97.2 | 98.7 | 978 | 99.7 582.6 1 8

2 | 15 P60 |HE XA 3E+07] 96.7 | 943 | 97.7 | 880 | 954 | 978 569.9 10 9

1 7 P60 |/NEFE B— |2E+07) 97.9 | 996 | 918 | 919 | 915 | 954 568.1 8 10

2 |18 P60 |HEH &= 2E+07| 96.4 | 948 | 925 | 945 | 929 | 935 564.6 9 11

2 | 17 P60 |lLIE BIE 3E+07| 91.3 91.9 94.7 98.3 94.7 922 563.1 12 12

11 16 P60 (Fim —F 3e+07) 809 | 823 | 815 | 86.7 | 954 | 803 507.1 3 13
1117 P60 |#&#E BX 2E+07| 92.8 | 90.5 | 948 | 96.3 3744 3 14 |DNF
2 |13 K20 |fE #th 4E+07] 95 96 191 5 1




